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16. Read the following passage carefully and answer the
qQuestions given below it

Games, though essential, should not become the
be-all and end-all of student life, Generally some
students waste too much lime on them, and fail in
their examination, One must never devote more than
an hour to sports, and afier that, should not even think
about them. Again, if player plays a game rashly,
there is every danger of his breaking a limb. If it is
played without the spirit of sportsmanship, it can
lead to bad blood and quarrels. In some of the
colleges there is a tradition that if the visiting team is
winning a match, the home team plays foul, picks a
quarrel, and tries to injure the visitors. But in spite of
all these minor defects, sports are very useful in
keeping the students busy and in developing their
personalitics. India expects its citizens to have the
qualities of true sportsmen. If we all acquire these
qualities, there will be no narrow-mindedm?ss, no
comuption and no injustice. There will be
independence in the real sense of the word.
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es do io some students ?

(i) What harm do gam
t play a game rashly 7 |

(ii) Why should one no
(iii) ‘What does ‘bad blood® mean ?
(iv) What would happen, if we a
qualities of true sportsmen 2 -
(v) ‘In some of the colleges there is a tradition
...... 7 which tradition is being talked about
here ?
17. Write a paragraph in about 100 words on any one of
the following
(a) Importance of Newspapers
(b) Visit to a Historical Place
(c) Pollution
(d) Road Safety
18. Change the following sentence into Passive Voice.
Was he examining the patients ?
19. Complete the following sentence by joining a Noun
Clause.
I don’t know ...... .
20. Fill up the blank with a suitable determiner.
...... flowers are not less beautiful than the rose.
21. Complete the following sentence with the correct
form of the verb given in bracket.
Each of them ...... here for two months. (come)
22. Rewrite the following sentence keeping the
subject-verb concord in mind.
The audience is requested to take its seats.
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16. (i) Some students waste too much time on sports 24,

and as a result they fail in their examination. %‘ fgg;
(i) One shm!ld not play a game rashly because 1343

there will always be a danger of breaking a 7| .49

limb if one plays a game rashly. G i
(iii) “Bad blood’ means feeling of hatred or strong I

dislike. 3037=3x3x?><?><?

(iv) Ifweall acquire the qualities of true sportsmen, . a4 .
there will be no narrow-mindedness, no i & T o fer 3 T S wem

3
corruption and no injustice. 25. Y0064 + Y27 -4729
(v) The tradition which is being talked about hcre -+ 30064 =304%x04%x04=04
is that in some of the colleges if the visiting 3 3
oWy = X3=
team Is winning a match, the home team plays V27 =33x3
foul, picks a quarrel and tries to injure the Y729 =33%x3x3x3Ix3x3
visitors. 3x3=9
=3XJ3=
Importance of Newspapers
77 _ 3790
17. Newspapers play a very important and crucial role in Y0064 + 27 - 3129
enlightening and educating the people. In present era _ =04+3-9=-56
of IT revolution, globalisation and liberalisation, 63 x 7
newspapers’ role has further strengthend and become 26. ."F? % ‘F 23 ad
wide spread It is the cheapest mode of 21 r
communication -and source of world’s knowl_edge Jaa1 21
and even today it plays a role of critical opposition, = T 4
Ix = 3
necessary for the success of democracy. Newspaper 3 3
commands such an educative value that it can mould
the public opinion, it can change the attitude of the ~ 27- (X + y+2)=10
people, it can force the rulers to amend their policy T AR T FHA o,
making and force them to enact some laws, banning (x+ y+2z)* = (10)
some social evils prevalent in the society. India is a
developing nation, where 70% of the population live 23+ Y ety 2+ 2yz+ 22 =100
in villages, where the facilities of TV, Internet and
other means of communications are beyond the reach - 40+ 20y + yz + zx) = 100
of a common man, so the newspapers are the only = y [ =100 — 40
source of news and knowledge of common mass. S a1
18. Were the patients being examined by him? = 200+ yz + zx) = 60
19. I don’t know where she has gone, -
20. Some flowers are not less beautiful than the rose. = Cp+ yz+ zx)=—=30
21. Each of them has been coming here for two months. : ) 2
22, The audience are requested to take their seats, 28. 274" - 64 - 10842 + 144a
2 18 72x105_ 7 - Lo _ =(3a)’ - (4) - 36a(3a - 4) |
© 48x 315 3 3 4
: =3a)’ - (4)} - -
: ._]36080 ‘ (3a)" - (4) 3)-:311)(4(3-:1 4)
TV w3 =Qa-4p
=9=47=9 @ '53-3115(&—13} =(a—-b)’ 3G FA ‘R ]

?7=81 : : =(3a-4)(3a-4)3a-4)
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